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P127 4.14
A
logA =0.61M-P logR+Q —logT 1
1966 P =1.66+3.60/R GL-300m
Q=0.167-1.83/R Yp=5.5km/S T Seed etal. 1969
logA =0.5K+0.01K A +3.0 1
1979 K =0.043M 2+0.89M-4.93 GL-51.67m
Vs=1.6km/S
1979 40
1984 A
logA =0.216 M-1.28log(A +30)+2.994 2
1984 67 1
logA =0.534M-1.857log(A +30)+2.045 EMP-IB
1984 logA =0.0846M+1.998(A Ao ) Vs=0.6-0.7(km/s)
A =1.06 100242M-30.0
logA =0.627M+0.00671H-2.2121logD +1.711 2
1987 D =R +0.35exp(0.65M) Vs 0.3(km/s) 2
41 Vs 0.4-0.6km/s
logA =0.614M +0.0050H —2.023logD +1.377 50 2
1990 D =(A 2+0.45H 2)1/2+0.220exp(0.699M ) Vs 0.04-3km/s
logA =0.557M +0.006911-1.84logR +1.187 Vs0.5km/s 2
1989 A=62.5(M-1) =1.6
LogA =0.51M —logD—0.0033R +0.59 2
1992 D =R +0.006 1005iM 2
LogA =0.476M —logX —0.000966X +0.546 2
1992 X=r/(In(1.0(r /R)2))12
r =100.6M—2.2
gal M H km A km km X km



